BINOMIAL EXPANSION THEOREM WORKSHEET

Exercise 1

1 Expand the following binomial expressions

2. Without expanding the entire expression in number 1 above, find the term indicated for the questions below:

(@) The middle term
e last term written in decreasing powers of a
b) The last t tt d f
(c) The 3" term written in increasing powers of y
e 3" term written in decreasing powers of x
(d) The 3"t tt d gp f
e e erm written in decreasing powers of x
The 2™ t tten in d f
(f) The 2™ term written in decreasing powers of x
g e 4" term written in decreasing powers of x
The 4"t tten in d f
(h) The 3" term written in increasing powers of x
(i) The 4™ term written in decreasing powers of x
j e 1° term written in decreasing powers of x
The 1* t tt d f
(k) The 3" term written in increasing powers of x
e erm written in decreasing powers o
[) The2™t tten in d fb
(m) The 4™ term written in decreasing powers of x
(n) The 5" term written in increasing powers of x
0 e erm written in decreasing powers o
The 2™ t itten in d ing p fp
(p) The 4™ term written in decreasing powers of x
(q) The 3™ term written in decreasing powers of p
() The 2™ term written in increasing powers of x



Exercise 2

1. Find the terms indicated in the expansions of the following expressions:

Expression Term
) (r+4)° o
) (r+y) 2
©) 2x-1)* x’
@  (3x-2y ¥
©  2-3p r
N (2p-3¢) e

2, ?

® (3-3) [

2. Find the coefficients of the terms indicated in the expansions of the following expressions:

Expression Term
(@) (2x-5)* W
by (Sx-2y)" a2t
) (x+3) x)
) (2p-3¢)° e
k1% X
L U PP~ —
(e) (-J p) o
2.3 il
1) = -
(" ,,.') o

3. Use the first threee terms in the expansion of (1 + x)* to find an approximate valoe for
101+ Find the percentage error in using this approximation.

4. (1) Write the expansion of (54 2x)*,
ity Use the first three terms of the expansion to approximate 5.2%

o
s. Find the cocfficient of v in the expansion of (x - 1 )’(-}_ - .\‘) ;

0
6. Find the constant term in the expansion of (.\' - ,l‘)

".

7. Find the constant term in the expansion of ( 3~ (Tlé)

H
8.  Find the term independent of x in the expansion of (2 - x)"({; -x)

L 6
9.  Find the term independent of x in the expansion of (Z.r - i) (% + 4) .



10.  In the expansion of (x - '{)’(.w¢‘{),.w1wmu is & nOO-Ze70 constant, the

coeflicient of the term in 2 is 9" times the coefficient in 12 . Find the value of
the constant a.

1. I the coelficient of the £ in the expansion of (1 - 3.x)* is %0, find n.

12.  Three consecutive coefficients in the expamsion of (1 + x)* arcin the ratio 6 : 14: 21,

Find the value of n,
13. Find the independent term in the following expansions
o N giné
() (.\ 0;) (r-:) (b) (2:0 1 --2—‘3)

14, Inthe expansion of (1 + ax)” the first term s 1, the second term is 24x and the third term
is 25247 . Find the values of a and n.

ANSWERS
Exercise 1
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2. see above expansion for indicated term

Exercise 2
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